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CompSci 101 Test Results

Question Marks Out of

Question 1 (output) 10
Question 2 (output) 10
Question 3 (keyboard input) 10
Question 4 (conditionals) 10
Question 5 (loops) 10
Question 6 (loops) 10
Question 7 (methods) 10
Question 8 (methods) 10
Question 9 (arrays) 10
Question 10 (desk-checking) 10

TOTAL 100
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Question 1 (10 marks)

a) What is printed by the following?

doubl e a;
a=1/ 2;
Systemout.printin( a);

(2 marks)
b) What is printed by the following?
int x=9-8+7/6-5%((4+ 3 *2- 1,
Systemout.println( x );
(2 marks)
¢) What is printed by the following?
Systemout.println( "\" + \"\"" );
(2 marks)
d) What is printed by the following?
doubl e rand = 0. 6;
Systemout.println( (int)rand * 100 + 1 );
(2 marks)

CONTINUED



Question/Answer Sheet

SURNAME: ....cccooiiiiiiniinecceeeeeeseee

e) What is printed by the following?

int b =(int)(2.5* 2.0) -
Systemout.printin( b );
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(i nt) 3. 99;

Question 2 (10 marks)

(2 marks)

What is the output when the following code is executed?

i nt numl
i nt nun®

4;
7;

String wordl

new String( "ABRACADABRA" );

String word2 - new String( wordl.toUpperCase() );
String word3 = new String( " TO SING " );
Systemout.println("1. " + wordl.substring(5, 8));
Systemout.println("2. " + wordl.indexO("RA"));
Systemout.println("3. " + wordl.indexOr("P));
Systemout.printin("4. " + wordl.charAt(3));
I f (word2 == wordl)

Systemout.println("5 ==");
el se

Systemout.println("5. not ==");
i f (word2. equal s(wordl))

Systemout.println("6. equal");
el se

Systemout.println("6. not equal");
Systemout.printin("7. " + (wordl == wordl));
Systemout.printin("8. " + (nun2/numl>=1 || (nunk/3.0>2)));
Systemout.printin("9. " + ( !'(nunR != ))),
Systemout.println("10. " + (num2%2==1 '(numl>3)));

CONTINUED
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Show the output here:

(10 marks)
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Question 3 (10 marks)

For this question, you need to complete the Aver agePr ogr amclass given below. When the
start () method is executed, the user should be prompted to enter two integers. The program
should then calculate and display the average of the two values entered.

Look carefully at the two examples below. If you complete the st art () method correctly, the
output produced should be identical to that shown below:

C. \Test> java AverageApplication
Enter first nunber: 4

Enter second nunber: 6

Average = 5.0

C.\Test> java AverageApplication
Enter first nunber: 2

Enter second nunber: 9

Average = 5.5

Complete the st art () method below. You can use the Keyboar d. r eadl nput () method for
obtaining user input from the keyboard.

public class AverageProgram {
public void start() {

(10 marks)
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Question 4 (10 marks)
What is the output when the st art () method below is executed?

public void start () {
Systemout.printin("1.");

dol f (6, 10);
Systemout.println("2.");
dolf(2, 1);
}
private void dolf(int x, int y) {
if (x >4) {
Systemout.println("line 1");
if (y >9 && vy !'=2)
Systemout.println("line 2");
x = 15;
}
if (y® ==11[| y==3)
Systemout.println("line 3");
Systemout.println("line 4");
else if (x <=2 &y <=9) {
if (y <x &y !'=0)
Systemout.println("line 5");
X = 14;
Systemout.println("line 6");
X =X - 2;
}
if (xR ==
Systemout.println("line 7");
el se
Systemout.println("line 8");
}

Show the output here:

CompSci 101 SSC
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Question 5 (10 marks)

For this question, you need to complete the i SPri me() method shown below. This method should
return t r ue if the value passed to the method as a parameter is a prime number (i.e. a number
greater than 1 which can be divided by only 1 and itself without leaving a remainder) and f al se
otherwise.

You can assume that the value passed as a parameter to this method will always be greater than 1.

private boolean isPrime( int value ) {

(10 marks)
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Question 6 (10 marks)

For this question, you need to complete the Uni queRandonPr ogr amclass given below. When

the st ar t () method is executed, two random integers between 0 and 9 inclusive should be printed

out. These two numbers must not be the same.

Look carefully at the two examples below. If you complete the St ar t () method correctly, the

output produced should be identical in format (although, of course, the values may be different) to
that shown below:

C.\Test> java Uni queRandomApplication
0 and 4
C.\Test> java Uni queRandomApplication
8 and 1

Complete the st ar t () method below.

public class Uni queRandonPr ogram {
public void start() {

(10 marks)
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Question 7 (10 marks)

Write a method, get Comrent () , which accepts one i Nt parameter and returns a String. The
String which is returned by the method depends on the value of the i nt parameter:

e If the value of the parameter is greater than 8, then the String, "HI GH", is returned by the
method.

e If'the value is greater than 6 and less than or equal to 8 then the String, "MEDI UM', is
returned by the method.

e If'the value is greater than 0 and less than or equal to 6 then the String, "LOW, is returned by
the method.

e In all other cases, the method returns the String, "NO COMVENT".

For example, executing the code below with the completed get Comment () method produces the
following output:

8: MEDI UM

6: LOW

-2: NO COMVENT
18: H GH

String conment = get Corment (8);
Systemout.println("8: " + conment);
Systemout.println();

conment = get Comment (6) ;
Systemout.println("6: "
System out. println();

+ coment) ;

conment = get Comment (-2);
Systemout.println("-2: "
Systemout. println();

+ coment) ;

comment = get Corment (18);
Systemout.println("18: " + comrent);
Systemout.println();

CONTINUED
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private get Conment ( ) {

(10 marks)
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Question 8 (10 marks)

Write a method, get Upper Lower () , which accepts one String parameter and one i Nt parameter,
and returns a String. The method changes the String, which is passed in as a parameter, into a
combination of upper case and lower case characters. The number of upper case characters is given
by the value of the i nt parameter. The rest of the characters in the String, are to be all lower case
characters.

For example, executing the code below with the completed get Upper Lower () method produces
the following output:

HanGVAN:  HANgnman
aMazindy So: AMAZI ngly so
over The TOP: OVER THe top

String word = "HanGVAN"';
Systemout.println(word + ": " + getUpperLower(word, 3));

word = "aMazinG@y So";
Systemout.println(word + ": " + getUpperLower(word, 4));

word = "over The TOP";
Systemout.println(word + ": " + getUpperLower(word, 7));

CONTINUED
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private get Upper Lower ( ) {

(10 marks)
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Question 9 (10 marks)

What is the output of the st ar t () method shown below?

public void start() {

int[] a={1, 2, 3};
int[] b={ 4, 5 6 };
int[] ¢ = newint[3];
for (int i =0; i <c.length; i++) {

c[i] = a[i] + b[b.length-1-i];

for (int i =0; i <c.length; i++) {
Systemout.print(c[i] + " ");
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Show the output in the box below:

(10 marks)
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Question 10 (10 marks)

What is the output when the st art () method shown below is executed? You may find it useful to
use the desk-checking technique covered in lectures. The space on the facing page can be used to
show the diagram you used to desk-check the code.

public void start() {
String endS;
int numl = net hod2(24.6);
Systemout.println("num: " + nunil);
endS = met hod1(528, 5);

Systemout.println("endS: " + endS);

}

private String nmethodl(int nunil, int len) {
String nuns;
int nunm2 = net hod2(nuntl) ;
len = len - 3;

nun2 = nun®/ 100;
nunS = nun + "000";
Systemout.println("nunsS: " + nunb);

nunS = nunS. substring(0, |en);
return nuns,

}
private int nmethod2(double nunl) {

int nun2 = (int) Math. round(nuntl);
nun2 = (nun2 + 10) / 10;

Systemout.println("nun2: " + nun);
return nun * 10;

}

Show the output below:

(10 marks)
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Working for Question 10. This is NOT required, although partial credit may be given for working if
the solution is incorrect.
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OVERFLOW PAGE
(If you have used this page, please indicate clearly under the
relevant question that you have overflowed to this page)
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ROUGH WORKING (WILL NOT BE MARKED)
(You may detach this page from the answer booklet and use it for rough working)
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